: Why does Lan think that she can't go to Nga's party?
A. She hasn't finished her homework.
B. She doesn't want to go to Nga's party.
C. The party is on her school day.

2. What has Lan decided to do?

A. She will not go to Nga's birthday party.

B. She can finish her homework first and go to the party later.
C. She can ask her sister to help her with her homework.

Conversation 2:

3. What is the problem with Minh?
A. He doesn't like parties. B. He often lies to his friends.
C. He has no friends.

4, What can be the result of Minh's habit?

A. He doesn't have any friends.

B. He will quit his class.

C. His friends will stop trusting him.
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